SDC-28500

OSKAR Dust Collector

General Safety Information
MACHINE WARNING SIGNS

m Indicates an imminently
hazardous situation which,
if not avoided, will result in
death or serious injury.

Indicates a potentially
hazardous situation which,
if not avoided, could result
in death or serious injury.

Indicates a potentially
hazardous situation which,
if not avoided, may result
in minor or moderate
injury.

Used without the safety
alert symbol (4L ) indicates

potentially hazardous Figure 1

situation which, if not

avoided, may result in Do not use the equipment

property damage. M around flammable
products, if not avoided,

f:} Warning of electric shock sparks can ignite vapors

from flammable products.
Read and understand all

Do pot expose the _ i é/@ warnings and operating
@ equipment _tO rain or use In 2 instructions before using
damp locations. m this equipment. Failure to

wamaman  follow all instructions may

. result in electric shock, fire,

bl and/or serious personal
| umdng this mﬂ‘:hli!l..

ol it injury or property damage.

Please read and save these instructions. Read carefully before attempting to assemble,
install, operate or maintain the product described. Protect yourself and others by observing
all safety information. Failure to comply with instructions could result in personal injury

and/or property damage! Retain instructions for future reference.
@g

S
air p¥°

SMT-080905




SDC-28500

OSKAR Dust Collector

TABLE OF CONTENT

MACHINE WARNING SIGNS..........cooiiitiiitiiieteeee ettt 1
SPECIICALIONS........eeeeeeeeeeeee ettt e e enn 2
ADDITIONAL DUST COLLECTOR SAFETY RULES........cocooioieiieitceeeeeeee e, 4
ASSEMDIY ...ttt ettt ettt ettt ettt neeaeane 5
INSEAIIALION ...ttt 5
ELECTRICAL INSTALLATION .....ooiitiiiieiiieteeeeeteeeet ettt 5
OPEIALION ...ttt ettt e e ae ettt et et e teeteeteeaeeaeeneas 6
Repair Parts IHUSLrAtioN ...........c.ouvouieeeeeeeeeeeee e 9
ADPPENAIX ...ttt ettt ettt ettt et et e e ne et ene e ens 26
Specifications
1 [0 o ] R 30 HP x 2 (22380 W x 2)
Air Volume (C.EM.) oo 28500 Ft3/Min (807 M?/Min)
INIEL SiZe ...oveeeeee 19.6” x 15.7" (50 x 40 cm)
Packing Size (L x W x H)
MaiN......cooeee e 247" x 111" x 79" (627.5 x 282 x 201.5 cm)
Stand.......ccccoeeeiiie i, 246" x 83" x 78" (627 x 211.5 x 200 cm)
Airtank Base...........ccccceevveeennnen. 236" x 23.4" x 18.9” (599.5 x 59.5 x 48 cm)
BIOWE ..., 106" x 86.6" x 70” (270 x 220 x 178.5 cm)
Overall Machine Weight ..........cccooivieiiiiiec e 14947 Ibs (6780 kgs)

Please read and save these instructions. Read carefully before attempting to assemble,
install, operate or maintain the product described. Protect yourself and others by observing
all safety information. Failure to comply with instructions could result in personal injury

and/or property damage! Retain instructions for future reference.
z)\’

> (s}
ajr pt

ce @ @ SMT-080905



SDC-28500

OSKAR Dust Collector

General Safety Information

(Continued)

AWARNING Use this product

carefully to
effectively avoid any possible danger.
Observe the following safety
regulations to avoid bodily injury due
to electrocution during use.

Read this Manual carefully before operating
the product and preserve the Operation
Manual properly.

1. Keep work area clean and organized.

» A disorderly working environment will
cause inconvenience and danger
during operation.

2. Check if the working environment is
suitable for using the product.

* Do not use the product in a humid
environment.

* Use the product in a good working
environment to reduce risks.

* Do not use the product in a flammable
gas or liquid environment to avoid
danger.

3. Keep other persons away from the
product, except for the operator, to
avoid danger.

* Do not let children get close to the
product. All wires used by the product

shall be in a safe location to prevent
children from touching them.

. All tools shall be safely stored.

¢ When the tools are not used, please
store them in a dry place safely
beyond the reach and access of
children.

If the machine breaks down, contact a

service technician. Do not attempt to

repair and possibly damage the machine.

. When using the product, be sure to put

on a dust collecting suit and mask.

Use the electrical wires correctly.

* During use, do not drag the electrical
wires forcefully. Do not use these
wires if fraying or current leakage
occurs to avoid injury to the operator.

Before replacing parts, shut off power to

the machine.

* Check that the switch is in “on” or
“off” position. Do not attempt the
replacement when the machine is
running. To replace parts or filter
material, make certain that the switch
is “off".

Use the power cord correctly. The total

length of power cord shall not exceed 10

feet to avoid low power due to a drop in

voltage and to prevent a possible hazard.

Please read and save these instructions. Read carefully before attempting to assemble,
install, operate or maintain the product described. Protect yourself and others by observing
all safety information. Failure to comply with instructions could result in personal injury
and/or property damage! Retain instructions for future reference.

@5’
N

S
air p¥°

(e @ On

SMT-080905



SDC-28500

OSKAR Dust Collector

When connecting
the product,
always follow the instructions in the

AWARNING

Operation Manual to avoid injuries.
10. Care and Maintenance:

» Confirm that the parts/accessories
have been fully assembled and will
not adversely affect the machine
operation.

* Check if the machine is operated
properly.

» Replace damaged parts or accessories
according to the instructions of the
Manual. If the said instructions are
not specified in the Manual, have a
professional technician carry out the
maintenance or replacement.

» Check that the electrical specifications
of this machine meet safety
requirements, and that the
maintenance is carried out by a
professional technician. Use original
manufacturer’s parts and accessories
to avoid injury.

» If a problem occurs, contact your
dealer immediately.

ADDITIONAL DUST COLLECTOR
SAFETY RULES

The Dust Collector can be dangerous if it is
operated incorrectly. Therefore, the product
must be used cautiously to avoid causing a

hazard or damage. Unnecessary injuries

may occur by failing to follow the

instructions of the Safety Rules Manual. Be
sure to put on protection equipment or suit
that can protect your body, such as helmet
and eye mask to avoid injuries from
occurring. If any doubts or any unfitness
occurs during use, be sure to stop the
operation immediately. Keep in mind that
the user shall be liable for using according to
the specified safety rules and for operating
the machine correctly.

1. Read this Manual carefully before
operating the product.

2. Be sure to follow local electrical and
safety regulations and observe the
electrical safety standards practiced in
the relevant area. All electrical wire
connections and installation shall be
carried out by a professional technician.

3. Do not operate the product near
flammable materials, as sparks may
ignite these materials and cause an
explosion. Please confirm there aren't
any flammables near the working site to
avoid hazard.

4. This product is suitable for collecting
dusts. Do not use it in collecting iron
chips and dust at the same time to avoid
producing sparks.

5. Before replacement of parts or filter
materials, be certain that the switch is

. )
ajr ot

&,
C‘fs



SDC-28500

OSKAR Dust Collector

disconnected.

6. Do not kink the power cord and keep it
away from oil, chemicals or flammables.

7. Check that the voltage, phase count and
grounding wire match the machine
requirements.

8. When the fan blades are operated at
high speed, do not reach hand near
these blades to prevent finger from
breaking or clothes/necktie from getting
caught. Do not put the hand or foreign
matter into the air inlet to avoid getting
caught in the high-speed rotation of fan
blades.

9. When not in use, all air inlets of Dust
Collecting Machine shall be covered.

Assembly

Do not connect the Dust Collecting
Machine before the assembly is
finished and you have read and
understood all of the precautions
stated in the Manual.

NOTE: For correct assembly, refer to the
Assembly Procedures.

Installation

MOVING AND TRANSPORTATION
The net weight of this machine is about 624
Ibs. It CANNOT be handled and transported
without the help of lifting tools. For your
safety, read all instructions carefully.

Do not move without the help of others

to avoid causing danger.

ELECTRICAL INSTALLATION

POWER CONNECTION

1. Confirm that the power is properly
connected under normal power supply

condition. Itis

AWARNING

recommended to

provide manual shutdown device before
connecting power.

2. Itis recommended to protect the control
equipment with suitable grade of fuse,
and the length of fuse and power cord
shall not be over 10 feet.

SHUTDOWN

1. Disconnect power by manual method.

2. When stopping operation, check if the
switch is under off status.

EARTHING WIRE

Connect yellow/green wires to the earthing

wire power jack. Confirm that the earthing

wire has been properly connected before

connecting main power cord to the machine

at all times.

Do not disconnect

AWARNING

the wiring jack
before cutting off power!

POWER INSTALLATION AND STORAGE
The electrical power is configured as
following. If conditions are beyond the scope
stated below, then it is required to ensure
that the power is well arranged and safe.

. )
ajr ot

&,
C‘fs



SDC-28500

OSKAR Dust Collector

* Ambient temperature: Between 41°F
and 131°F. If the time is over 24
hours, then the ambient average

temperature shall not be over 122°F.

* Humidity: Between 30% and 95%

e Altitude: 3,280 feet

* Moving and Storing: -13°F to 131°F.
For short-time storage (less than 24
hours), the storage temperature can
be up to 158°F.

SDC-28500 Magnetic Valve
Operating Illustration

Green
Foyer
Tndicator
X
BEEl x x x x x
£ MIDE + = OINT. OFF T AVALVE WOPF'S LOCKED
g3 4 Green >
ser Swrch o MODE: Choose Modle
N = +:The nunker increases by one every tine the button is pressed
|:|§ —iThe number every tine the button is pressed.
e
[aclac]EJPi]PafeaM 1 [2 ]3[4 [5]e]7[8]9 Jiw0]t]1e]
SIFYEIAEITIIITIIIII]
STEP(: Set Pulse-Jet Cle \gﬂ >
e X 3 X x ox

N tine, S8 ON T, OFF T. HVALVE #OFF'S

LOCKED

oo XX
UFF T7@ Lignt on, - .
0 adjust the OFF tim Wl ®® N T O T OAVALVE WOFF'S LODKED
HoX o XX
W22 i o T sveLve wrEs LockeD
STEP(4) Set number of cycles after skitching off B . X o o X
Pre: and select “HOFF'S'4) Light on,
The: * or “~* to adjust the nunber of cycles, B BB oy T OFF T WVALVE HOFF'S LOCKED
- MODE + —
STEP®S Setting completed p (1]
Fress MO ano select LICKED'CD Lgnt o Ao X
Seting s Conpletes, pressin BB B oy 1 OFF T #VALVE HOFF'S LOCKED
Wil not chonge the Seting MODE + —
Figure 2 — Electrical Circuit Diagram I
SDC-28500 Schematics
e
3
fon I
2
S
|
A ]
ws Lo
@; s
g 2 /e ¥ 87
B TR}
H A ] ]

Figure 2 — Electrical Circuit Diagram II

Operation
PRIOR TO START UP
Purpose: The Dust Collector is specially
suitable for treating the dust generated
during ordinary dust collecting work, which
can effectively collect and screen the smoke
resulting from the dust collecting work in
maintaining the air quality of the working
environment.
» Before starting the machine, be sure
to read this Manual carefully.
Before starting the machine, check if
relevant safety protection measures
have been taken according to the
Manual.
Before starting the machine, watch
the motor turning direction according
to the instruction of arrow direction.
T UP
0 ensure satisfactory performance for
1e Dust Collecting Machine, please
onfirm the air volume, power and the
1atching table of the Dust Collecting
lachine.
onnect power according to electrical
1stallation procedure after installing the
lust Collecting Machine and the table.
lisconnect power according to electrical
1stallation procedure when the machine
» not used.
he Dust Collecting Machine shall be
Jrned on and off by pushing I/O button.

0,
<,
C‘fs

. )
ajr ot



OSKAR Dust Collector

SDC-28500

Under normal operation status, use such
I/0O button.
Unpacking
The machine should be unpacked carefully.
Check if the machine and components are
consistent with those indicated in the Parts
List. If any doubt arises or when the
components are incomplete, contact your
dealer.

. )
ajr ot

&,
C‘fs



SDC-28500

OSKAR Dust Collector

Dimensions (in mm & inches)

2,100 [88*”]

6,094 [240.10"] | Bl

L 300 [11.82"]
- 200 [/.887]
0 N o
R o) o
o (o0}
© ] N
— 4 -
0 3
© N o
o ~ »
E a —
U o
g 3
‘oa ™
S o
= = o
gl -
=
] abdlal £2307] %
3 e %
™ 2
=
=5 L T %9 73—f494 T 2102 t82o47 |
2,867 [112.96"]
$585 [230577
6,094 [24010"]

Please read and save these instructions. Read carefully before attempting to assemble,
install, operate or maintain the product described. Protect yourself and others by observing
all safety information. Failure to comply with instructions could result in personal injury
and/or property damage! Retain instructions for future reference.

ce @ @ SMT-080905



SDC-28500

OSKAR Dust Collector

Repair Parts Illustration

SDC-28500 (SV-6000) Assembly Procedures
A. [Lower Base]) Stand:

[2] Machine Body — Lower Section. Disassemble (6) Trays under the Stands.

Please read and save these instructions. Read carefully before attempting to assemble, install, operate or
maintain the product described. Protect yourself and others by observing all safety information. Failure to comply
with instructions could result in personal injury and/or property damage! Retain instructions for future reference.

s

6\3

air pt°

SMT-080905




SDC-28500

OSKAR Dust Collector

[4]) Apply grease on the Stands. [ 5] Insert the Machine Lower Section into the
(3) Stands.

10




SDC-28500

OSKAR Dust Collector

[ 7] Disassemble the Bubble Wrapper from the Spporting Shaft.
[ 8] Fasten each Supporting Shaft with (4) pcs of 1/2”*1-1/4” Hex Screws, (8) pcs of

1/27*0D25*2t Flat Washers, (4) pcs of 1/2” Spring Washers and (4) pcs of 1/2” Hex Nut.
Fix the Supporting Shafts under the Machine Lower Section, above the Stands. There are a
total of (8) Supporting Shafts.

B. Drum Base:

11




SDC-28500

OSKAR Dust Collector

;‘- J * lll

[ 1] Fix the (3) Gallon Drums to the L-shape Frame using (2) pcs of 3/87*3/4” Hex Screw and (4)
pcs of 3/87*0D23*2t Flat Washers and (2) pcs of 3/8” Hex Nut.

Pay attention to the Directions when fixing.

12




SDC-28500

OSKAR Dust Collector

[2] Position the Gallon Drum to the Drum Base
[3] Adjust the Drum Fixing Base and push the Gallon Drum to fix the position.
[4] Gallon Drum Base is able to adjust its height.

C. [Machine Body] Inlet Base:

[ 1] Assemble the Inlet Base to the back of Machine B:)dy.

13




SDC-28500

OSKAR Dust Collector

.
-

[2] Hang the Inlet and fix the surrounding parts with (16) pcs of 3/8”*1” Hex Screw, (32) pcs of
3/87*0D23*2t Flat Washer, (16) pcs of 3/8” Spring Washer and (16) pcs of 3/8” Hex Nut to
the Machine Body.

[3] Open the door in the middle of the Machine Body and take out the Cartridges.

[4] Use (12) pcs of 3/87*1” Hex Screw, (24) pcs of 3/8°*0D23*2t Flat Washer, (12) pcs of

3/8”Spring Washer and (12) pcs of 3/8” Hex Nuts to fix the lower section of Inlet Base to
the Machine Body. Then put the Cartridges back to the Machine Body.

14




SDC-28500

OSKAR Dust Collector

H-Mh
[ 5 JIf fastening the 8 positions for the Inlet Base (Fig. 1), it is required to open the two roofs at the
top (Fig. 2)

[6] (Fig. 3) & (Fig. 4) Use (8) pcs of 3/8*1” Hex Screw, (16) pcs of 3/87*0D23*2t Flat Washer,

(8) pcs of 3/8” Spring Washer and (8) pcs of 3/8” Hex Nut from inside to outside of the
Machine Body and fix with the Inlet Base.

15




SDC-28500

OSKAR Dust Collector

[ 7]Use (20) pes of 1/27*3/4” Hex Screw and (20) pcs of 1/2”*0D25*2t Flat Washers to fix the (2)
pcs roofs to the Machine Body.

D. [Machine Body] Air Pulse-Jet Fixing Frame:

16




SDC-28500

OSKAR Dust Collector

i

[ 1] Fix six Pulse-jet Fixing Frame using (2) pcs of 1/2”*1-1/4” Hex Screw, (4) pcs of
1/27*0D25*2t Flat Washer, (2) pcs of 1/2” Spring Washer and (2) pcs of 1/2”” Hex Nut to the
Upper raw of Machine Body.

REMARK: Fasten the screws from inside to outside of the Machine Body.

E. [Machine Body] Air Pulse-Jet Assembly:

17




OSKAR Dust Collector

SDC-28500

[ 1] Disassemble the Box and tear the Bubble Wrapper of the Air Pulse Jet.

\/

Take out the Air Pulse-Jet, Water Filtering Devise, Water Releasing Valve and Black Gasket

Ring.

There is a hole
below for use of
Releasing the
Water Valve.

3°85-86 & & 0=d

[2] Fix the Air Pulse-Jet on the Pulse-Jet Fixing Drum.
Pay attention to the direction of the Air Pulse-Jet.

There is a hole
for the Water

Filtering Device.

18




SDC-28500

OSKAR Dust Collector

[ 3] Put the black gasket on the 2" Connector on the Magnetic Valve.
[4] Then fasten the screws of the 2”” Connector and the 2” Steel Pipe.

19




SDC-28500

OSKAR Dust Collector

[ 1] There are three types of Air Pulse-Jet Cover:
Refer to the figures above: Left Cover is sealed without holes on the surface.

20




SDC-28500

OSKAR Dust Collector

Middle Cover is labeled with OSKAR LOGO.
Right Cover is sealed with holes on the surface.

o S I

i 'ﬁ o ’. v . i N
[2] Each Air Pulse-Jet Cover back side will be fixed with (2) pcs of 3/8”*3/4” Hex Screw and (2)

pcs of 3/87*0D23*2t Flat Washer to the Air Pulse-Jet Fixing Base. (Fig. 5)

[, |

[ 3] Each Air Pulse-Jet Cover front side will be fixed with (2) pcs of 3/87*3/4” Hex Screw and (2)
pcs of 3/87*0D23*2t Flat Washer to the Air Pulse-Jet Fixing Base. (Fig. 6).

21




SDC-28500

OSKAR Dust Collector

[4] Use 1” Connector to put through the Water Filtering Device to the Air Pulse-jet Cover and
fasten it at the hole on the right side.

22




SDC-28500

OSKAR Dust Collector

G. [ Machine Body]) Blower Section:

mwmrm‘mwmm TP
| ‘ l 'i

[5) (Fig. 7) Assembly positions for the (2) Blower Sections.
[6]) ([ Fig. 8 ) Use (24) pcs of 1/27*3/4” Hex Screw and (24) pcs of 1/2”*0OD25*2t Flat Washers to

fix the Blower Section to the Machine Body.

Please read and save these instructions. Read carefully before attempting to assemble, install, operate or
maintain the product described. Protect yourself and others by observing all safety information. Failure to comply
with instructions could result in personal injury and/or property damage! Retain instructions for future reference.

£
o
60

o
ajr o'

SMT-080905




SDC-28500

OSKAR Dust Collector

H. [Machine Body)] Magnetic Valve Wiring:

[ 1] Plug in the Power Cords according to the Cord Numbers marked on the Magnetic Valve
(from left to right) A1~A12.

I. [Machine Body)] Motor Wiring:

24




SDC-28500

OSKAR Dust Collector

T —

[ 1] Connect the Power Cords from the (2) Blower Sections to the Control Box on the Right Side
of the Machine Body. [ Fig. 9]

ReRpR Ly i

l'n] o e S *

[2] Open the Control Box, connect the (2) power cords through the (2) holes under the Box.

[3] Use a Screwdriver to fix the Power Cords to the receptacles.

25




OSKAR Dust Collector

SDC-28500

Appendix

SDC-28500 Magnetic Valve
Operating Illustrotion

Green
Power
Indicator

AOEED v ox x o X

c o &
£ MODE + — ON T. OFF T. #VALVE #OFF’'S LOCKED
& m & o0} @ 3 (4> (5>
N X o] Green
n [ i
D : Siten MODE: Choose Mode
N = nolicator
2 :Ci +: The numker increases by one every time the button is pressed.
x —i The number decreases by one every time the button is pressed.
&
OFF o
[ac]ac] EfPi[Paleav 1 [2 ]3[4 [5]6]7]8]9 Jio]u]12]
Ml%—i(Me éééééééé
POWER .
~ GROUND Magnetic
AC 85V~265V ON/OFF VAR

STEP(I> Set Pulse-Jet Cleaning time B>

Press “MODE” and select “ON T.(1) Light on,
Then press "+” or =" to adjust the ON time,
ranging from 1~50 mins

STEP@): Set Interval time P>

Press "MODE” and select “OFF T.(@> Light on,
Then press "+” or =" to adjust the OFF time,
ranging from 1~999 mins

STEP(3) Set Quontity of Magnetic Valve P

Press "MODE” and select “#VALVE"(3) Light on,
Then press "+” or =" to set the required quantity
of magnetic valve, ranging from 1~20 mins

STEP(4>: Set number of cycles after switching off P

Press “MODE” and select "#OFF'S”(4)> Light on,
Then press “+” or =" to adjust the number of cycles,
ranging from 0~25

STEP(3): Setting completed p

Press “MODE” and select “LOCKED”(5> Light on,
Setting is completed, pressing “+” or =" button
will not change the setting.

F
L0
o]
o

=
Sl
+0

@ Lo
+@m
\@E

<
O
=
m

B |
+@!
\@E

<
)
g
m

H
+@m
\@m

<
)
ws)
m

I [0l

:

<

Elo
+ [0
I [0

ON

ON

ON

T

SO SUIND S G o

aFF T

o

aFF T

o

oFF T

ot

OFF T

o

aFF T

#VALVE

hot

#VALVE

-

#VALVE

jot

#VALVE

hot

#VALVE

#OFF'S

X

#OFF'S

X

#OFF'S

-

#OFF'S

X

#OFF'S

LOCKED

X

LOCKED

X

LOCKED

X

LOCKED

o

LOCKED

26

air pt°

C[s

%,



SDC-28500

OSKAR Dust Collector

SDC-28500 Schematics

R oTo
oFF oFF
Transformer 3 12
oV oV }»DN HTl }»DN HTB
L
P
220V

460V
110V
St T1

Jamogy
T43MOd
440/N0
2uamMoyg
249Moyg

403 0DjPuU]
uolyodadp

403 021Ul
403 021Ul
uolyouadg

Please read and save these instructions. Read carefully before attempting to assemble, install, operate or maintain the product described.
Protect yourself and others by observing all safety information. Failure to comply with instructions could result in personal injury and/or

property damage! Retain instructions for future reference.

&,
Cfs

o
ajr o'

SMT-080905

(e @ [en



